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instructionS To candidates
	1.	 Immediately after getting the booklet read instructions carefully, 

mentioned on the front and back page of the question booklet and 
do not open the seal given on the right hand side, unless asked by 
the invigilator.

	2.	Write your Roll No., Answer-Sheet No., in the specified places given 
above and put your signature.

	3.	Make all entries in the OMR Answer-Sheet as per the given 
instructions otherwise Answer-Sheet will not be evaluated.

	4.	After Opening the seal, ensure that the Question booklet 
contains total no. of pages as mentioned above and printing 
of all the 100 questions is proper. If any discrepancy is found, 
inform the invigilator within 15 minutes and get the correct 
booklet.

	5.	For each question in the Question Booklet choose only one most 
appropriate answer, out of four options given and darken the circle 
provided against that option in the OMR Answer-Sheet, bearing 
the same serial number of the question. Darken the circle only with 
Black or Blue ball point pen.

	6.	Darken the circle of chosen option fully, otherwise answers will not 
be evaluated.

	7.	There are 100 objective type questions in this Question Booklet.  
2 marks is allotted for each correct answer and 1/4 mark will be 
deducted for each wrong Answer. 

	8.	Do not write anything anywhere in the Question Booklet and the 
Answer-Sheet except making entries in the specified places 
otherwise OMR sheet will not be evaluated.

	9.	After completion of the examination, only OMR Answer-Sheet and 
cover page of question booklet is to be handed over to the invigilator. 
Carbon copy of the Answer-Sheet and Question Booklet may be 
taken away by the examinee.

	10.	This Question Paper consists of Five Parts namely :
			                                    Q. No.	   Marks	 Part – 1 :	Schemes Related to Women and Child
		  Development Department and Programme	1 – 60 	120
	 Part – 2 :	General Mental Aptitude and 
		  General Knowledge	 61 – 75 	 30
	 Part – 3 :	General Knowledge of General Hindi and 
		  Chhattisgarhi Language	 76 – 85 	 20
	 Part – 4 :	General English	 86 – 90 	 10
	 Part – 5 :	General Maths	 91 – 100 	20

	 All questions are compulsory.
	11.	 In case of any ambiguity in English version the Hindi version shall 

be considered authentic.
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	 1.	 Which of the following is correct about 
“Niacin” ?

	 (A)	 Niacin keeps the skin, stomach 
and respiratory system healthy 
and it is found in gram, rice, 
peanut and meat

	 (B)	 Niacin keeps the skin, stomach 
and respiratory system healthy 
and it is found adequately in 
milk, curd, green vegetables

	 (C)	 Niacin is used in building of red 
blood cells and it is found in gram, 
rice, peanut and meat

	 (D)	 Niacin is used in building of red blood 
cells and it is found adequately in 
milk, curd, green vegetables

	 2.	 Which of the following option correct 
for ideal weight of a teen age girl ?

	 (A)	 Malnutritioned	 -	 BMI less than 
						    20.5
		  Normal	 -	 BMI 20.5 
		  excess weight	 -	 BMI 25 – 35

	 (B)	 Malnutritioned	 -	 BMI less than 
						    18.5
		  Normal	 -	 BMI 18.5 – 25
		  excess weight	 -	 BMI more 
						    than 30
	 (C)	 Malnutritioned	 -	 BMI less
						    than 15.5
		  Normal	 -	 BMI 17 – 20
		  excess weight	 -	 BMI more 	

		  than 25
	 (D)	 None of the above

	 1.	 {ZåZ _| go ‘‘{Z`m{gZ’’ Ho$ gå~ÝY _§o Š`m ghr h¡ ?

	 (A)	 {Z`m{gZ M_‹S>r, noQ>, Am¡a ídgZ V§Ì H$mo 
ñdñW aIVm h¡ VWm Xmb, Mmdb, _y±J\$br, 
_m§g go àmßV hmoVm h¡

	 (B)	 {Z`m{gZ M_‹S>r, noQ,> Am¡a ídgZ V§Ì H$mo 
ñdñW aIVm h¡ VWm XÿY, Xhr, har gãOr go 
àMwa _mÌm _§o àmßV hmoVm h¡

	 (C)	 {Z`m{gZ aŠV _o§ bmb H$mo{eH$mAmo§ Ho$ {Z_m©U 
_o§ H$m_ AmVm h¡ VWm Xmb, Mmdb, _y±J\$br 
Am¡a _m§g go àmßV hmoVm h¡ 

	 (D)	 {Z`m{gZ aŠV _§o bmb H$mo{eH$mAmo§ Ho$ {Z_m©U 
_| H$m_ H$aVm h¡ Am¡a XÿY, Xhr, har gãOr 
go àMwa _mÌm _o§ àmßV hmoVm h¡ 

	 2.	 {H$emoar ~m{bH$mAmo§ Ho$ AmXe© dOZ Ho$ gå~ÝY 

{ZåZ{b{IV {dH$ënm| _§o Š`m ghr h¡ ? 

	 (A)	 Hw$nmo{fV	 -	BMI 20.5 go H$_

		  gm_mÝ`	 -	BMI 20.5

		  AË`m{YH$ dOZ	 -	BMI 25> go 35 
	 (B)	 Hw$nmo{fV	 -	BMI 18.5> go H$_

		  gm_mÝ`	 -	BMI 18.5> go 25 VH$
		  AË`m{YH$ dOZ	 -	BMI 30 go A{YH$

	 (C)	 Hw$nmo{fV	 -	BMI 15.5> go H$_

		  gm_mÝ`	 -	BMI 17> go 20 VH$
		  AË`m{YH$ dOZ	 -	BMI 25 go A{YH

	 (D)	 CnamoŠV _§o go H$moB© Zht 

PART – 1
Schemes Related to women and 
Child Development Department 

and Programme

_{hbm Ed§ ~mb {dH$mg {d^mJ go gå~§{YV 
`moOZmE± Ed§ H$m`©H«$_
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	 3.	 Which of the following is true about 
maternal mortality rate ?

	 (A)	 India : 115 lac per lac living 		
	                children

		  This State : 159 children per lac 	
	                       living children

	 (B)	 India : 113 lac per lac living 		
	                children

		  This State : 159 children per lac 	
	                        living children 

	 (C)	 India : 113 lac per lac living 		
	               children

		  This State : 153 children per lac 	
	                        living children

	 (D)	 India : 115 lac per lac living 		
	                children

		  This State : 153 children per lac 	
	                        living children

	 4.	 Match the following members of Group ‘A’ 
and Group ‘B’.

	 	 Group ‘A’		  Group ‘B’
				    (Disease 		

		   related to)
	 i.	 Deficiency of	 a.	 Eyes
		  Vitamin ‘E’
	 ii.	 Deficiency of	 b.	 Infertility
		  Vitamin ‘K’
	 iii.	 Deficiency of	 c.	 Weak bones
		  Vitamin ‘C’
	 iv.	 Deficiency of	 d.	 Teeth
		  Vitamin ‘A’
		  In the table given above match correctly 

the two Groups and choose the code 
given below.

	 i	 ii	 iii	 iv
	 (A)	 a	 b	 c	 d	
	 (B)	 d	 a	 b	 c
	 (C)	 b	 c	 d	 a
	 (D)	 b	 c	 a	 d

	 3.	 {ZåZ _| go _mV¥ _¥Ë ẁXa Ho$ g§~§Y _§o Š`m ghr h¡ ?

	 (A)	 ^maV _| 115 à{V bmI Or{dV ~ƒm| na   
VWm Bg amÁ` _o§ 159 à{V bmI Or{dV 
~ƒm| na

	 (B)	 ^maV _| 113 à{V bmI Or{dV ~ƒm§o na VWm 
Bg amÁ` _o§ 159 à{V bmI Or{dV ~ƒm| 
na

	 (C)	 ^maV _| 113 à{V bmI Or{dV ~ƒm§o na VWm 
Bg amÁ` _o§ 153 à{V bmI Or{dV ~ƒm| 
na

	 (D)	 ^maV _| 115 à{V bmI Or{dV ~ƒm§o na VWm 
Bg amÁ` _o§ 153 à{V bmI Or{dV ~ƒm| 
na

	 4.	 J«yn ‘A’ VWm J«yn ‘B’ Ho$ gXñ`m| H$mo gw_o{bV H$a| &
		  J«yn ‘A’	 J«yn ‘B’
				   (é½U g§~§Yr 		

		   g_ñ`m)

	 i.	 {dQ>m{_Z ‘E’ H$s	 a.	Am±Imo§	
		  H$_r
	 ii.	 {dQ>m{_Z ‘K’ H$s	 b.	 ~m§PnZ
		  H$_r
	 iii.	 {dQ>m{_Z ‘C’ H$s	 c.	 H$_Omoa hÈ>r
		  H$_r	

	 iv.	{dQ>m{_Z ‘A’ H$s	 d.	Xm§Vmo
		 H$_r

		  CnamoŠV Q>o~b go XmoZm| J«yn H$mo gw_o{bV H$s{OE Am¡a 
ghr H$moS> H$m M`Z H$ao§ &

	 i	 ii	 iii	 iv
	 (A)	 a	 b	 c	 d	
	 (B)	 d	 a	 b	 c
	 (C)	 b	 c	 d	 a
	 (D)	 b	 c	 a	 d
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	 5.	 Which of the following is not objective 
of “Matra Vandana Yojna” ?

	 (A)	 It aims to compensate completely 
for the loss incurred by beneficiary 
pregnant women

	 (B)	 To encourage appropriate 
procedures, supervision and 
services during pregnancy and 
delivery

	 (C)	 To encourage only breast feeding 
during first six months after the 
birth of child

	 (D)	 None of the above

	 6.	 Under ‘Mukhyamantri Kanya Vivah’ 
Scheme girls from economically 
weaker families are given amount of 
money for their marriage	

	 (A)	 Rs. 5,000/-	 (B)	 Rs. 10,000/-
	 (C)	 Rs. 25,000/-	 (D)	 Rs. 50,000/-

	 7.	 Which of the following statement is not 
related to ‘Chhattisgar Mahila Kosh Ki 
Rin Yojna’ ?

	 (A)	 Empowering women economically 
and socially.	

	 (B)	 Providing easy term loan to women  
from self help groups.

	 (C)	 Providing loan to women suffering 
from sexual harassment and HIV.

	 (D)		 Providing loan without interest.

	 5.	 “_mV¥ d§XZm `moOZm” H$m¡Z-gm CÔoí` Zht h¡ ?

	 (A)	 J^©dVr {hVJ«mhr _{hbm Ho$ _OXÿar _| hþB© 

hm{Z H$mo nyU©V: j{V ny{V© H$aZm h¡

	 (B)	 J^m©dñWm Ed§ àgd Ho$ Xm¡amZ Cn`wŠV 

nÕ{V`m±, XoIaoI Ed§ godmAm§o Ho$ Cn`moJ H$mo 

~‹T>mdm XoZm

	 (C)	 {eew Ho$ OÝ_ Ho$ ~mX `WmerK« nhbo 06 
_{hZo VH$ Ho$db ñVZnmZ H$amZo Ho$ {bE 

àmoËgm{hV H$aZm

	 (D)	 CnamoŠV _| go H$moB© Zht

	 6.	 ‘_w»`_§Ìr H$Ý`m {ddmh’ `moOZm Ho$ A§VJ©V Am{W©H$ 
ê$n go H$_Omoa n[adma H$s H$Ý`mAm| H$mo {ddmh hoVw 
{H$VZo én ò H$s Am{W©H$ ghm`Vm Xr OmVr h¡	 ?

	 (A)	 é. 5,000/-	 (B)	 é. 10,000/-

	 (C)	 é. 25,000/-	 (D)	 é. 50,000/-

	 7.	 {ZåZ _| go H$m¡Z-gm H$WZ ‘N>ÎmrgJ‹T> _{hbm H$mof 
H$s F$U `moOZm’ go g§~§{YV Zht h¡ ?

	 (A)	 _{hbmAm| H$mo Am{W©H$ Ed§ gm_m{OH$ ê$n go 
geŠV H$aZm&	

	 (B)	 _{hbm ñd ghm`Vm g_yhm| H$mo AmgmZ eVm] na 
F$U CnbãY H$aZm&

	 (C)	 `m¡Z CËnr‹S>Z Ed§ EM.AmB©.dr. nr{‹S>V _{hbmAm| 
H$mo F$U XoZm&

	 (D)	 {~Zm ã`mO H$m F$U XoZm&	
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	 8.	 The involvement of  people in community 
project to solve their own problem is 
refer to

	 (A)	 Community Health
	 (B)	 Community participation
	 (C)	 Community profile 
	 (D)	 Community  culture

	 9.	 One of the following principles does not 
apply in women’s self help groups

	 (A)	 Women regularly save little amount 
from their income

	 (B)	 Loan is provided according to 
rules and terms of group

	 (C)	 They do not take collective decision 

	 (D)	 They mutually agree on contributing 
their personal money to the group

	 10.	 The Dowry Prohibition Act, 1961 
extends

	 (A)	 To the whole of India except the 
State of Jammu and Kashmir

	 (B)	 To the Chhattisgarh State

	 (C)	 To the Madhya Pradesh State
	 (D)	 All of the above

	 11.	 The child marriage prohibition officers 
within the Indian Penal code shall be 
deemed to be

	 (A)	 Judicial magistrate

	 (B)	 Public servants
	 (C)	 Police
	 (D)	 Executive magistrate

	 8.	 AnZr g_ñ`m H$m g_mYmZ hoVw bmoJm| H$m gm_wXm{`H$ 
`moOZm _| em{_b hmoZm H$hbmVm h¡

	 (A)	 gm_wXm{`H$ ñdmñÏ`
	 (B)	 gm_wXm{`H$  gh^m{JVm
	 (C)	 gm_wXm{`H$  àmo\$mBb
	 (D)	 gm_wXm{`H$  H$ëMa

	 9.	 {ZåZ _| go H$m¡Z-gm {gÕm§V _{hbm ñd`§ ghm`Vm 
g_yh _| bmJy Zht hmoVm ?

	 (A)	 _{hbmE± {Z`{_V ê$n go Wmo‹S>r am{e AnZr 
Am_XmZr go ~MV H$aVr h¡

	 (B)	 g_yh  Ûmam V` {H$`o J`o {Z`_m| ê$n eVm]   na 
F$U CnbãY H$aVo h¢

	 (C)	 gm_y{hH$ {ZU©` Zht boVo h¢
	 (D)	 ì`pŠVJV am{e H$mo g_yh _| `moJXmZ Ho$ {bE 

nañna gh_V ahVo h¢

	 10.	 XhoO à{VfoY A{Y{Z`_, 1961 H$m {dñVma h¡

	 (A)	 g§nyU© ^maV na Oå_y H$í_ra amÁ` Ho$ 
		  {gdm`

	 (B)	 N>ÎmrgJ‹T> amÁ` na
	 (C)	 _Ü` àXoe amÁ` na
	 (D)	 CnamoŠV g^r

	 11.	 ~mb {ddmh à{VfoY A{YH$mar ̂ maVr` XÊS> g§{hVm 
Ho$ AÝVJ©V g_Po OmE§Jo

	 (A)	 Ý`m{`H$ XÊS>m{YH$mar
	 (B)	 bmoH$ godH$
	 (C)	 nw{bg
	 (D)	 H$m`©nmbH$ _{OñQ´>oQ>



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		  	 10223/NCW – QC/RCE – E

	 -7-	 Set-A

	 12.	 The provisions of the child and 
Adolescent Labour (Prohibition and 
Regulation) Act, 1986 shall be in 
addition to and not in derogation of 
the following act

	 (A)	 The Factories Act, 1948
	 (B)	 The Plantations Labour Act, 1951
	 (C)	 The Mines Act, 1952
	 (D)	 All of the above

	 13.	 The act is hereby repealed by the 
Juvenile Justice (Care and Protection 
of Children) Act, 2015

	 (A)	 The Juvenile Justice (Care and 
Protection of Children) Act, 2000

	 (B)	 Juvenile Justice Act, 1986
	 (C)	 Protection of Child Act, 2006
	 (D)	 All of the above

	 14.	 Sexual Harassment means
	 (A)	 Physical contact
	 (B)	 Sexually remarks

	 (C)	 Showing pornography
	 (D)	 All of the above

	 15.	 In which of the areas one Anganwadi 
Centre can established for a population 
of 300–800 ? 

		  Choose the correct options given below :

	 (A)	 Rural area, desert, scheduled 
(Tribal) and hilly areas 

	 (B)	 Scheduled (Tribal) areas, desert 
areas with river/canal and urban 
areas

	 (C)	 Rural and urban areas
	 (D)	 Scheduled (Tribal) areas, desert 

and areas with river/canal and 
hilly areas

	 12.	 ~mbH$ Am¡a Hw$_ma l_ (à{VfoY Am¡a {d{Z`_Z) 
A{Y{Z`_, 1986 {Z`_m| Ho$ Cn~§Y {ZåZ 
A{Y{Z`_ Ho$ Cn~§Ym| Ho$ A{V[aŠV hm|Jo Z {H$ CZHo$ 
AënrH$aU _| 

	 (A)	 H$maImZm A{Y{Z`_, 1948
	 (B)	 ~mJmZ l_ A{Y{Z`_, 1951
	 (C)	 ImZ A{Y{Z`_, 1952
	 (D)	 CnamoŠV g^r

	 13.	 {H$emoa Ý`m` (~mbH$m| H$s XoIaoI Am¡a g§ajU) 
A{Y{Z`_, 2015 Ûmam {Za{gV {H$`m OmVm h¡ 

	 (A)	 {H$emoa Ý`m` (~mbH$mo § H$s XoIaoI Am¡a 
g§ajU) A{Y{Z`_, 2000

	 (B)	 {H$emoa Ý`m` A{Y{Z`_, 1986
	 (C)	 ~mbH$m| H$m g§ajU A{Y{Z`_, 2006
	 (D)	 CnamoŠV g^r

	 14.	 b¢{JH$ CËnr‹S>Z H$m AW© h¡
	 (A)	 emar[aH$ g§nH©$
	 (B)	 b¢{JH$ {Q>ßnUr
	 (C)	 Aíbrb gm{hË` {XImZm
	 (D)	 CnamoŠV g^r

	 15.	 300 go 800 VH$ H$s OZg§»`m Ho$ {bE 
{ZåZ{b{IV _| {H$Z joÌm| _| EH$ Am§JZdm‹S>r Ho$ÝÐ 
ñWm{nV {H$`m Om gH$Vm h¡ ?

		  {ZåZ _| go ghr g§`moOZ M`{ZV H$a| & 
	 (A)	 J«m_rU joÌ, _éñWbr`, OZOmVr`, VWm 

nd©Vr` joÌm| _|
	 (B)	 OZOmVr` joÌ, _éñWbr` ZXr/Zmbo `wŠV 

joÌ VWm ehar joÌm| _|

	 (C)	 J«m_rU Ed§ ehar joÌm| _|
	 (D)	 OZOmVr` joÌ, _éñWbr` Am¡a ZXr/Zmbo 

`wŠV joÌ VWm nd©Vr` joÌm| _|
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	 16.	 The aim of integrated child development 
services scheme is

	 (A)	 To improve the nutritional and 
health status of children in the age 
group 0 – 6 year

	 (B)	 To lay the foundations for proper 
psychological, physical and social 
development

	 (C)	 To reduce mortality, morbidity and 
malnutrition

	 (D)	 All of the above
	 17.	 Beneficiary of integrated child 

development services scheme is
	 (A)	 Children between the age group 

of 0 – 6 year
	 (B)	 Antenatal and lactating mother
	 (C)	 Both (A) and (B)
	 (D)	 All senior citizens

	 18.	 Which of the following worker comes 
under integrated child development 
services scheme ?

	 (A)	 Anganwadi worker
	 (B)	 Accredited Social Health Activist 

(ASHA)
	 (C)	 Urban Social Health Activist 

(USHA)
	 (D)	 Village Health Guide
	 19.	 Following are the services provided by 

Anganwadi Centres except
	 (A)	 Supplementary nutrition
	 (B)	 Immunization
	 (C)	 Health checkup and health 

education
	 (D)	 Formal education to school going 

children

	 16.	 EH$sH¥$V ~mb {dH$mg godm`| `moOZm H$m CÔoí` h¡

	 (A)	 0 – 6 df© Ho$ ~ÀMm| Ho$ ñdmñÏ` Ed§ nmofU 
ñVa H$mo gwYmaZm

	 (B)	 ~ÀMm| Ho$ g_w{MV _Zmod¡km{ZH$, emar[aH$ Ed§ 
gm_m{OH$ {dH$mg H$m AmYma V¡`ma H$aZm

	 (C)	 _¥Ë`wXa, é½UVm Ed§ Hw$nmofU H$mo H$_ H$aZm

	 (D)	 CnamoŠV g^r
	 17.	 EH$sH¥$V ~mb {dH$mg godm`| `moOZm Ho$  

{hVJ«mhr h¢ 
	 (A)	 0 – 6 df© Ho$ ~ÀMo

	 (B)	 J^©dVr Ed§ ñVZnmZ H$amZo dmbr _mVmE±

	 (C)	 (A) Ed§ (B) XmoZm|

	 (D)	 g^r d[aîR> ZmJ[aH$
	 18.	 {ZåZ _| go H$m¡Z H$m`©H$Îmm© Omo EH$sH¥$V ~mb {dH$mg 

godmE± `moOZm Ho$ A§VJ©V AmVr h¡ ?

	 (A)	 Am§JZdm‹S>r H$m`©H$Îmm©
	 (B)	 Amem

	 (C)	 D$fm

	 (D)	 {dboO hoëW JmBS>

	 19.	 {ZåZ _| go H$m¡Z-gr godm Am§JZdm‹S>r g|Q>a Ûmam Zht 
Xr OmVr h¡ ?

	 (A)	 nyaH$ nmofU
	 (B)	 Q>rH$mH$aU
	 (C)	 ñdmñÏ` Om±M Ed§ ñdmñÏ` {ejm

	 (D)	 ñHy$b OmZo dmbo ~ÀMm| H$mo Am¡nMm[aH$ 
{ejm
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	 20.	 {ZåZ _| go H$m¡Z-gr ̀ moOZm 11 – 18 df© Ho$ {H$emoar 
~m{bH$mAm| Ho$ {bE EH$sH¥$V ~mb {dH$mg godmE± 
Ûmam H$m`m©pÝdV H$s OmVr h¡ ?

	 (A)	 ~m{bH$m g_¥{Õ `moOZm

	 (B)	 {H$emoar epŠV `moOZm

	 (C)	 _w»`_§Ìr H$Ý`m {ddmh `moOZm

	 (D)	 B§Ð YZwf `moOZm

	 21.	 gIr (dZ ñQ>mn g|Q>a) Ho$ {bE CnbãY gw{dYmAm|  

_o§ {ZåZ{b{IV _| go H$m¡Z-gm J«yn bmJy Zht hmoVm ?

	 (A)	 AmnmVH$mbrZ ghm`Vm, {M{H$Ëgr` ghm`Vm, 

{d{YH$ nam_e© Am¡a _Zmod¡km{ZH$ nam_e©

	 (B)	 AmnmVH$mbrZ ghm`Vm, {M{H$Ëgr` 

ghm`Vm, _{hbm H$mo E\$.AmB.Ama.  H$aZo 

_| ghm`Vm

	 (C)	 {d{YH$ nam_e©, _Zmod¡km{ZH$ nam_e©, {dÎmr` 

ghm`Vm, {M{H$Ëgr` ghm`Vm

	 (D)	 {M{H$Ëgr` ghm`Vm, AmnmVH$mbrZ Aml` 

H$s ghm`Vm, {d{S>`m| H$m§\$a|qgJ gw{dYm, 

gm_m{OH$ nam_e©

	 20.	 Which of the following scheme is 
		  implemented in integrated child 
		  development services for adolescent 

girls in age group of 11 – 18 years ?
	 (A)	 Balika Samriddhi Yojna

	 (B)	 Kishori Shakti Yojna

	 (C)	 Mukhya Mantri Kanya Vivah 
Yojna

	 (D)	 Indra Dhanush Yojna

	 21.	 Which of the following shall not apply 
for “Sakhi” (One Stop Centre) with 
respect to the facilities available under 
the Scheme ?

	 (A)	 Emergency assistance, Medical 
aid, Legal advise and Psychological 
counselling

	 (B)	 Emergency assistance, Medical 
aid, Assistance in lodging fir to 
women

	 (C)	 Legal advise, Psychological 
counselling, Financial help, 
Medical aid

	 (D)	 Medical aid, Emergency shelter, 
facility of video conferencing 
social counselling
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	 22.	 “ ~oQ>r ~MmAmo ~oQ>r n‹T>mAmo `moOZm” Ho$ VhV 
{ZåZ{b{IV H$WZm§o H$mo XoI|&

	 i.	 `h nyao ̂ maV df© Ho$ 100 {Obmo§ _| df© 2015 
_| àmaå^ {H$`m J`m&

	 ii.	 `h nyao ̂ maV df© Ho$ 100 {Obm§o _| df© 2018 
_| àmaå^ {H$`m J`m&

	 iii.	 Bg amÁ` Ho$ am`J‹T> {Obo H$mo df© 2015 
_| _ëQ>r goŠQ>moab hñVjon {Obo Ho$ ê$n _| 
Kmo{fV {H$`m J`m&

	 iv.	 Bg amÁ` Ho$ am`J‹T> {Obo H$mo df© 2018 _| 
_ëQ>r  goŠQ>moab hñVjon {Obo Ho$ ê$n _| Kmo{fV 
{H$`m&

		  CnamoŠV Mma H$WZm§o _| go H$m¡Z-gm H$WZ ghr h¢ ?
	 (A)	 i,  iv		  (B)	 i,  iii

	 (C)	 ii,  iv		 (D)	 ii,  iii

	 23.	 {ZåZ{b{IV _| go “_w»`_§Ìr gwnmofU `moOZm” Ho$ 
{hVJ«mhr H$m¡Z-gm h¡ ?

	 i.	 06 df© go H$_r Am ẁ Ho$ g_ñV Hw$nmo{fV ~ƒo & 

	 ii.	 06 go 59 _mh VH$ E{Z{_`m go nr{‹S>V 
g^r ~ƒo &

	 iii.	 15 go 49 df© VH$ E{Z{_`m go nr{‹S>V 
_{hbmE± &

	 iv.	 11 go 14 df© VH$ Am ẁ Ho$ embm Ë`mJZodmbo 
~ƒo &

		  CnamoŠV Mma H$WZm§o H$mo {dMma H$aHo$ ghr H$moS> M`Z 
H$a|&

	 (A)	 i, ii, iii	 (B)	 ii, iii, iv

	 (C)	 iii, iv, i	 (D)	 iv, i, ii

	 22.	 Consider  the following statement in the 
context of “Beti Bachao Beti Padao”.

	 i.	 The Scheme started in 100 District 
in India in the year 2015.

	 ii.	 The Scheme started in 100 District 
in India in the year 2018.

	 iii.	 Raigarh district of this state was 
declared multisectoral Intervention 
in 2015.

	 iv.	 Raigarh district of this state was 
declared multisectoral Intervention 
in 2018.

		  Which of the following option is correct for 
the correctness of above four statement ?

	 (A)	 i, iv	 (B)	 i, iii
	 (C)	 ii,  iv	 (D)	 ii,  iii

	 23.	 Which of the following are beneficiaries 
of “Mukhyamantri Suposhan Yojna” ?

	 i.	 All the malnutritioned children of 
age less than  06 years.

	 ii.	 All the children suffering from 
anemia from 06 months to 59 
months.

	 iii.	 Women suffering from anemia 
with age 15 – 49 years.

	 iv.	 Drop outs from school between 
age11 – 14 years.

		  Which of the following option is correct 
for the correctness of above four 
statement ?

	 (A)	 i, ii, iii	 (B)	 ii, iii, iv
	 (C)	 iii, iv, i	 (D)	 iv, i, ii
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	 24.	 Which of the following  is true about 
“Mukhyamantri Bal Sandarbh Yojna” ?

	 i.	 To provide free health check- up 
and medicine in Government 
hospitals, referred by Anganwadi 
worker, seriously malnutritioned 
children and children in trouble.

	 ii.	 To refer children suffering  from 
serious and major diseases like 
Cancer, Heart problem etc. to bigger 
hospitals.

	 iii.	 This  scheme started on	   
06 June 2009.

		  Which of the following option is correct 
for the correctness of above four 
statement ?

	 (A)	 i, ii and iii all		  (B)	 i and ii
	 (C)	 ii and iii		  (D)	 i and iii

	 25.	 Which of the following is true ?
	 i.	 “Saksham Scheme” was started 

in 2009 to provide easy loan to 
widows, divorcees and unmarried 
women.

	 ii.	 Financial Assistance given to women 
self help groups by “Chhattisgarh 
Mahila Kosh” fund was first time 
increased in the year 2021 from  
Rs. 50,000/- to Rs. 1,00,000/-.

	 iii.	 The work of giving easy loans 
to self help women groups by 
“Chhattisgarh Mahila Kosh” has 
been done since 15 August 2003.

		  Which of the following option is correct for 
the correctness of above four statement ?

	 (A)	 only i,ii	 (B)	 only ii, iii

	 (C)	 only iii, i	 (D)	 i, ii, iii all

	 24.	 {ZåZ{b{IV H$WZm| _| go “_w»`_§Ìr ~mb g§X^© 
`moOZm” Ho$ gå~ÝY _| Š`m ghr h¡ ?

	 i.	 J§^ra Hw$nmo{fV Ed§ g§H$Q>J«ñV ~ƒm| H$mo  
Am§JZdm‹S>r H$m ©̀H$Vm© Ûmam g§X{ ©̂V {H$E OmZo na 
emgH$s` {M{H$Ëgmb`mo§ _| {Z:ewëH$ ñdmñÏ` 
narjU Ed§ {Z:ewëH$ XdmB© CnbãY H$aZm&

	 ii.	 J§^ra OmZ bodm ~r_mar O¡go H¢$ga, öX`amoJ 
O¡gr ~r_m[a`m| go nr{‹S>V ~ƒm| H$mo {H$gr ~‹S>o 
AñnVmb _| g§X{^©V H$aZm&	

	 iii.	 `h `moOZm 06 OyZ 2009 _| àmaå^ H$s JB©& 

		  CnamoŠV Mma H$WZm| H$mo {dMma H$aHo$  {ZåZ{b{IV 
ghr H$moS> H$m M`Z H$a|&

	 (A)	 i, ii VWm iii g^r	 (B)	 i VWm ii
	 (C)	 ii VWm iii		  (D)	 i VWm iii

	 25.	 {ZåZ{b{IV H$WZm| _| Š`m ghr h¡ ?
	 i.	 “gj_ `moOZm” {dYdm, VbmH$ ewXm Ed§ 

A{ddm{hV _{hbmAm| Ho$ {bE gwb^ F$U 
CnbãY H$amZo Ho$ {bE df© 2009 _| àmaå^ 
{H$`m J`m&

	 ii.	 “N>ÎmrgJ‹T> _{hbm H$mof” Ûmam Xr _{hbm 
ñdghm`Vm g_yh H$s OmZodmbr àW_ ~ma 
df© 2021 _| é. 50,000 go ~‹T>mH$a 
é.1,00,000 H$s JB©&

	 iii.	 “N>ÎmrgJ‹T> _{hbm H$mof” Ûmam _{hbm 
ñdghm`Vm g_yhm§o H$mo AmgmZ eVm] na F$U 
XoZo H$m H$m`© 15 AJñV 2003 go {H$`m 
Om ahm h¡&

		  CnamoŠV Mma H$WZm| H$mo {dMma H$aHo$  {ZåZm| _| go 
ghr H$moS> H$m M`Z H$a|&

	 (A)	 {g\©$ i, ii	 (B)	 {g\©$ ii, iii

	 (C)	 {g\©$ iii, i	 (D)	 i, ii, iii  g^r



		  	 10223/NCW – QC/RCE – E

	 -12-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	 26.	 All of the following are nutrients found 
in food except

	 (A)	 Plasma
	 (B)	 Proteins
	 (C)	 Carbohydrates

	 (D)	 Vitamins

	 27.	 Amylase in saliva begins the breakdown 
of carbohydrates into

	 (A)	 Fatty acid

	 (B)	 Amino acid
	 (C)	 Polypeptides
	 (D)	 Simple sugar

	 28.	 Which of these is not considered  
a nutrient ?

	 (A)	 Vitamins	 (B)	 Minerals
	 (C)	 Fiber	 (D)	 Fats

	 29.	 All of the following are needed for 
strong bones except

	 (A)	 Magnesium	 (B)	 Thiamin
	 (C)	 Calcium	 (D)	 Vitamin-D

	 30.	 The amount of energy contained in 
food indicate by this unit of energy ?

	 (A)	 Label

	 (B)	 Calorie
	 (C)	 Food guide pyramid
	 (D)	 Pound

	 26.	 {ZåZ _| go EH$ H$mo N>mo‹S>H$a g^r nmofH$ VËd ^moOZ 
_| nm`o OmVo h¢

	 (A)	 ßbmO_m
	 (B)	 àmoQ>rZ
	 (C)	 H$m~m}hmBS´>oQ>
	 (D)	 {dQ>m{_Z

	 27.	 bma _| nm`o OmZo dmbo E{_boO Ûmam H$m~m}hmBS´>oQ> 
H$m {dícofU hmoVm h¡

	 (A)	 dgm`wŠV Aåb
	 (B)	 A_rZmo Aåb
	 (C)	 nm°brnoßQ>mBS>
	 (D)	 gmYmaU ewJa (MrZr)

	 28.	 {ZåZ _| go H$m¡Z-gm nmofH$ VËd Zht h¡ ?

	 (A)	 {dQ>m{_Ýg	 (B)	 I{ZO nXmW©
	 (C)	 aoem	 (D)	 dgm

	 29.	 {ZåZ _| go EH$ Ho$ A{V[aŠV g^r h{È>`m| H$mo _O~yV 
H$aZo Ho$ {b`o Amdí`H$ (Oê$ar) h¡

	 (A)	 _¡½Zo{e`_	 (B)	 Wm`{_Z
	 (C)	 H¡$pëe`_	 (D)	 {dQ>m{_Z-S>r

	 30.	 ^moOZ _| {H$VZr D$Om© h¡, BgH$mo Xem©Vo h¢

	 (A)	 bo~b
	 (B)	 H¡$bmoar
	 (C)	 ImÚ JmBS> {nam{_S>
	 (D)	 nmCÊS>
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	 31.	 Till the date 31-03-2021

	 i.	 There were 7076 Schemes under 
integrated Child Development 
project in India.

	 ii.	 46660 Anganvadi Kendra were 
sanctioned in Chhattisgarh

	 iii.	 5814 mini Anganvadi Kendra were 
sanctioned in Chhattisgarh.

		  Which of the above statement is true ?
		  Choose the correct code given below : 

	 (A)	 only i and ii

	 (B)	 only ii and iii 

	 (C)	 only iii and i

	 (D)	 i, ii and iii all

	 32.	 Health check up services is designated 
for whom ?

	 i.	 Pregnant and lactating women.
	 ii.	 Children less than age of 03 years.

	 iii.	 Children between 03 – 06 years 
of age.

	 iv.	 Teen girls with age between  
11 years and 18 years.

		  Which of the following option is correct 
for the correctness of above four 
statement ?

	 (A)	 i, ii, iii and iv	

	 (B)	 only i, ii, iii

	 (C)	 only ii, iii, iv	

	 (D)	 only iii, iv and i

	 31.	 {XZm§H$ 31-03-2021 VH$

	 i.	 ^maV _| EH$sH¥$V ~mb {dH$mg `moOZm Ho$ 
AÝVJ©V 7076 `moOZmE± hmo JB© h¢ &

	 ii.	 N>ÎmrgJ‹T>> _| 46660 Am§JZdm‹S>r Ho$ÝÐ 
ñdrH¥$V h¡ &

	 iii.	 N>ÎmrgJ‹T> _| 5814 {_Zr Am§JZdm‹S>r Ho$ÝÐ 
ñdrH¥$V h¡ &

		  CnamoŠV H$WZm| _| Š`m ghr h¡ ? 
		  {ZåZ _| go ghr {dH$ën M`Z H$a| &	

	 (A)	 {g\©$ i Ed§ ii ghr h¡

	 (B)	 {g\©$ ii Ed§ iii ghr h¡

	 (C)	 {g\©$ iii Ed§ i ghr h¡

	 (D)	 i, ii VWm iii VrZm| ghr h¡

	 32.	 ñdmñÏ` Om±M godmE± {H$gHo$ {bE {ZYm©[aV h¡ ?

	 i.	 J^©dVr Am¡a XÿY {nbmZodmbr _m±&

	 ii.	 03 df© go H$_r Am`w Ho$ ~ƒo&

	 iii.	 03 – 06 df© Am`w Ho$ ~ƒo&

	 iv.	 {H$emoar ~m{bH$mE± 11 df© go 18 df© VH$ 

		  CnamoŠV Mma H$WZm| H$mo {dMma H$aHo$ {ZåZ _| go ghr 
AZwH«$_ M`Z H$a| &

	 (A)	 i, ii, iii Am¡a iv	

	 (B)	 {g\©$ i, ii, iii

	 (C)	 {g\©$ ii, iii, iv	

	 (D)	 {g\©$ iii, iv Am¡a i
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	 33.	 Consider the following statement in 
the context of establishing Anganvadi 
Centres.

	 i.	 Community block is taken as unit 
for the sanction of integrated child 
development project in Rural/
Scheduled areas.

	 ii.	 If the population of block is more 
than 05 Lac, more than one 
project can be sanctioned.

	 iii.	 For sanction of urban project one 
lac population is essential.

	 iv.	 One Anganvadi Kendra can be 
established for each 800 population 
above 2400 population.

	 	 Which of the following option is correct 
for the correctness of above four 
statement ?

	 (A)	 i, ii and iii	 (B)	 ii, iii and iv
	 (C)	 iii, iv and i	 (D)	 iv, i and ii
	 34.	 Consider the following statement in 

the context of establishing Anganvadi 
centres.

		  i.	 To lay down foundation for correct 
physical  and psychological 
development of children.

	 ii.	 To improve the nutrition and health 
of children between 0-6 years.

	 iii.	 Reduction in maternal mortality rate, 
infant mortality rate, malnutrition, 
sickness and tendency to drop out 
from school.

	 iv.	 To provide grants in scheduled 
areas for development.

		  Which of the following option is 
correct for the correctness of above 
four statement ?

	 (A)	 i, ii and iii	 (B)	 ii, iii and iv
	 (C)	 iii, iv and i	 (D)	 iv, i and ii

	 33.	 Am§JZdm‹S>r Ho$ÝÐ ñWm{nV H$aZo Ho$ g§~§Y _| 
{ZåZ{b{IV H$WZm§o na {dMma H$a|&

	 i.	 J«m_rU/OZOmVr` joÌm| _| EH$sH¥$V ~mb 
{dH$mg `moOZm ñdrH¥${V Ho$ {bE gm_wXm{`H$ 
{dH$mg IÊS> H$mo BH$mB© _mZm OmVm h¡&

	 ii.	 {dH$mg IÊS> H$s OZg§»`m 05 bmI go hmoZo na 
EH$ go A{YH$ n[a`moOZm ñdrH¥$V H$s Om gH$Vr 
h¡&

	 iii.	 ehar n[a`moOZm H$mo ñdrH¥${V Ho$ {bE  
1 bmI H$s OZg§»`m hmoZm Amdí`H$ h¡&

	 iv.	 2400 H$s OZg§»`m Ho$ níMmV à{V 800 
H$s OZg§»`m Ho$ {bE EH$ Am§JZdm‹S>r Ho$ÝÐ 
ñWm{nV {H$`m Om gH$Vm h¡& 	

		  CnamoŠV Mma H$WZm§o _| Š`m ghr h¡ ? ghr 
{dH$ën MwZo&

	 (A)	 i, ii VWm iii	 (B)	 ii, iii VWm iv
	 (C)	 iii, iv VWm i	 (D)	 iv, i VWm ii	

	 34.	 A§JZdm‹S>r Ho$ÝÐ ñWm{nV H$aZo Ho$ g§~§Y _| 
{ZåZ{b{IV H$WZm| na {dMma H$a|&

	 	 i.	 ~ƒm| Ho$ C{MV emar[aH$ VWm _mZ{gH$ 
(_Zmod¡km{ZH )$ {dH$mg H$s Zrd S>mbZm&

	 ii.	 0 – 6 df© Ho$ ~ƒm| _o§ nmofU Ed§ ñdmñÏ` H$s 
pñW{V H$mo gwYmaZm&

	 iii.	 _mV¥ _¥Ë`wXa, {eew _¥Ë`wXa, Hw$nmofU é½UVm 
Ed§ ~rM _§o ñHy$b N>mo‹S>Zo H$s àd¥{Îm _§o H$_r 
bmZm&

	 iv.	 OZOmVr` joÌm| Ho$ {dH$mg Ho$ {bE AZwXmZ 
àXmZ H$aZm&

		  CnamoŠV Mma H$WZm| _§o H$m¡Z-go H$WZ ghr h¡ ? 
{ZåZ _| go ghr H$mo M`{ZV H$ao§&

	 (A)	 i, ii VWm iii	 (B)	 ii, iii VWm iv
	 (C)	 iii, iv VWm i	 (D)	 iv, i VWm ii



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		  	 10223/NCW – QC/RCE – E

	 -15-	 Set-A

	 35.	 Consider the following statements.
	 	 i.	 To find the children who are not 

vaccinated and to inform the 
project officer about them.

	 ii.	 To prepare mother and child 
protection card and to notify the 
beneficiaries about it.

	 iii.	 To conduct health checkups and 
vaccinate mother and child.

	 iv.	 To give teen age girls and 
women nutrition and health and 
health education.

		  Which of the above are not the 
duties of Anganvadi worker ? 
Choose the correct code. 

	 (A)	 i, ii and iii	 (B)	 ii, iii and iv
	 (C)	 iii, iv and i	 (D)	 iv, i and ii

	 36.	 Which of the following vitamin 
deficiency causes Beri-beri ?

	 (A)	 Vitamin B1	 (B)	 Vitamin B2

	 (C)	 Vitamin B6	 (D)	 Vitamin B12

	 37.	 Scurvy is a disease caused due to 
deficiency of	

	 (A)	 Vitamin A	 (B)	 Vitamin B
	 (C)	 Vitamin C	 (D)	 Vitamin D

	 38.	 Which one of the following is not a 
feature of marasmus ?

	 (A)	 Muscle wasting
	 (B)	 Oedema
	 (C)	 Increased susceptibility to 

infection
	 (D)	 Dry skin

	 35.	 {ZåZ{b{IV H$WZ na {dMma H$a|&

	 	 i.	 {OZ ~ƒm§o H$mo Q>rHo$ Zht bJo h¡ CZH$s g§»`m 
nVm bJmH$a n[a`moOZm A{YH$mar H$mo gy{MV 
H$aZm&

	 ii.	 _mV¥ Ed§ {eew ajm H$mS>© V¡`ma H$aZm Ed§ H$mS>© 
Ho$ ~mao _§o {hVJ«m{h`m§o H$mo OmZH$mar XoZm&

	 iii.	 ~ƒo Ed§ _mVmAmo§ H$m Q>rH$mH$aU Ed§ ñdmñÏ` 
Om±M H$aZm& 

	 iv.	 {H$emoar ~m{bH$mAmo§ VWm _{hbmAm| H$mo 
ñdmñÏ` Ed§ nmofU {ejm XoZm& 

		 CnamoŠV Mma H$WZm§o _| H$m¡Z-gm Am§JZdm‹S>r 
H$m`©H$Vm© H$m Xm{`Ëd Zht h¡ ?

	 {XE hþE H$moS> H$m M`Z H$a|&
	 (A)	 i, ii VWm iii	 (B)	 ii, iii VWm iv
	 (C)	 iii, iv VWm i	 (D)	 iv, i VWm ii

	 36.	 {ZåZ{b{IV _| go H$m¡Z-gr {dQm>{_Z H$s H$_r go 
~oar-~oar hmoVm h¡ ?

	 (A)	 {dQ>m>{_Z ~r1 	 (B)	 {dQ>m>{_Z ~r2 

	 (C)	 {dQ>m>{_Z ~r6 	 (D)	 {dQ>m>{_Z ~r12

	 37.	 ñH$du Zm_H$ ~r_mar {H$gH$s H$_r go hmoVm h¡ ?

	 (A)	 {dQ>m>{_Z A	 (B)	 {dQ>m>{_Z B
	 (C)	 {dQ>m>{_Z C	 (D)	 {dQ>m>{_Z D

	 38.	 {ZåZ{b{IV _| go H$m¡Z-gm _amñ_g amoJ H$m bjU 
Zht h¡ ?

	 (A)	 _m§gno{e`m| _| H$_r
	 (B)	 gyOZ
	 (C)	 g§H«$_U Ho$ {bE g§doXZerbVm _o§ d¥{Õ

	 (D)	 ê$Ir ËdMm
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	 39.	 Deficiency of Protein causes

	 (A)	 Hemorrhage	 (B)	 Scurvy

	 (C)	 Anaemia	 (D)	 Kwashiorkor

	 40.	 Which scheme is launched for the 
development and learning outcome 
for the childrens of 0 – 6 years ?

	 (A)	 National Award for Children/
National Child Award

	 (B)	 National Commission for Protection 
of Child Rights (N.C.P.C.R.)

	 (C)	 Gender Budgetting Scheme
	 (D)	 I.C.D.S. (Integrated Child 

Development Scheme)

	 41.	 Chhattisgarh Tonahi Pratadna Nivaran 
Act be enacted

	 (A)	 In the fifty three year of the Republic 
of India

	 (B)	 In the fifty four years of the Republic 
of India

	 (C)	 In the fifty five year of the Republic 
of India

	 (D)	 In the fifty six year of the Republic 
of India

	 42.	 Every offence punishable under the 
Chhattisgarh Tonahi Pratadna Nivaran 
Act shall be

	 (A)	 Bailable
	 (B)	 Cognizable

	 (C)	 Cognizable and non-bailable
	 (D)	 Non cognizable

	 39.	 àmoQ>rZ H$s H$_r go hmoVm h¡ 

	 (A)	 aŠV H$m {ZH$bZm	 (B)	 ñH$du

	 (C)	 aŠV AënVm	 (D)	 Šdm{e`moaH$a

	 40.	 0 – 6 df© Ho$ g^r ~ÀMm| Ho$ {dH$mg Am¡a b{ZªJ 
AmCQ>H$_ H$mo ~‹T>mZo Ho$ CÔoí` go {H$g `moOZm H$mo 
àmaå^ {H$`m J`m h¡ ?

	 (A)	 amîQ´>r` ~mb nwañH$ma `moOZm

	 (B)	 amîQ´>r` ~mb A{YH$ma g§ajU Am`moJ

	 (C)	 b¢{JH$ ~OqQ>J `moOZm
	 (D)	 EH$sH¥$V ~mb {dH$mg `moOZm

	 41.	 N>ÎmrgJ‹T> Q>moZhr àVm‹S>Zm {ZdmaU A{Y{Z`_ 
A{Y{Z`{_V hþAm

	 (A)	 ^maV JUamÁ` Ho$ {VanZdo§ df© _|

	 (B)	 ^maV JUamÁ` Ho$ Mm¡dZdo§ df© _|

	 (C)	 ^maV JUamÁ` Ho$ nMnZdo§ df© _|

	 (D)	 ^maV JUamÁ` Ho$ N>ßnZd§o df© _|

	 42.	 N>ÎmrgJ‹T> Q>moZhr àVm‹S>Zm {ZdmaU A{Y{Z`_ Ho$ 
AÝVJ©V XÊS>Zr` g_ñV AnamY hm|Jo

	 (A)	 O_mZVr`
	 (B)	 g§ko`
	 (C)	 g§ko` VWm AO_mZVr`
	 (D)	 Ag§ko`
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	 43.	 Under the protection of women from 
Domestic Violence Act “Domestic 
Violence” includes

	 (A)	 Physical abuse
	 (B)	 Sexual abuse
	 (C)	 Economic abuse

	 (D)	 All of the above

	 44.	 In order to insure protection of rights of 
children the government have adopted

	 (A)	 National Charter for Children, 2003

	 (B)	 National Charter for Children, 2004

	 (C)	 National Charter for Children, 2005

	 (D)	 National Charter for Children, 2006

	 45.	 The objects of the Commission for 
Protection of Child Rights Act, 2005

	 (A)	 The Constitution of a National 
Commission and State Commissions 
for Protection of Child Rights

	 (B)	 The Constitution of Children’s Court 
for providing speedy trial of offences 
of violation of Child Rights

	 (C)	 To provide matters connected with 
children or incidental thereto

	 (D)	 All of the above

	 46.	 Who are included in Holistic Nutrition 
scheme ?

	 (A)	 Childrens and teen girls
	 (B)	 Pregnant women
	 (C)	 Lactating mothers
	 (D)	 All of the above

	 43.	 Kaoby qhgm go ñÌr H$m g§ajU A{Y{Z`_ Ho$ AÝVJ©V 
“Kaoby qhgm” _| em{_b h¡

	 (A)	 emar[aH$ Xþì`©dhma
	 (B)	 `m¡Z Xþì`©dhma
	 (C)	 Am{W©H$ Xþì`©dhma
	 (D)	 CnamoŠV g^r

	 44.	 ~mbH$m§o Ho$ A{YH$mamo§ Ho$ g§ajU H$mo gw{ZpíMV H$aZo Ho$ 
{bE gaH$ma Zo ~mbH$m| Ho$ {bE A§JrH$ma {H$`m

	 (A)	 amîQ´>r` ~mbH$ MmQ>©a, 2003

	 (B)	 amîQ´>r` ~mbH$ MmQ>©a, 2004
	 (C)	 amîQ´>r` ~mbH$ MmQ>©a, 2005

	 (D)	 amîQ´>r` ~mbH$ MmQ>©a, 2006

	 45.	 ~mbH$ A{YH$ma ga§jU Am`moJ A{Y{Z`_, 2005  
Ho$ CÔoí`

	 (A)	 ~mbH$ A{YH$mam§o Ho$ g§ajU Ho$ {bE amîQ´>r` 
Am`moJ VWm amÁ` Am`moJmo§ H$m JR>Z

	 (B)	 ~mbH$ A{YH$mamo§ Ho$ A{VH«$_U Ho$ Ëd[aV 
{dMmaU Ho$ {bE ~mbH$ Ý`m`mb`m§o H$m JR>Z

	 (C)	 ~mbH$mo§ go g§~§{YV AmZwf§{JH$ {df`m§o H$m 
Cn~§Y H$aZo Ho$ {bE

	 (D)	 CnamoŠV g^r

	 46.	 nmofU A{^`mZ `moOZm _| {H$ZH$mo gpå_{bV {H$`m 
J`m h¡ ?

	 (A)	 ~ÀMm| Ed§ {H$emo[a`m| H$mo
	 (B)	 J^©dVr _{hbmdm| H$mo
	 (C)	 ñVZnmZ H$amZo dmbr _mVm H$mo
	 (D)	 CnamoŠV g^r
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	 47.	 In Chhattisgarh state how many		
government children homes are	  
running/established ?

	 (A)	 5	 (B)	 6
	 (C)	 7	 (D)	 8
	 48.	 Swadhar  Grah is included 

	 (A)	 Widow women
	 (B)	 Destitute women
	 (C)	 Despised women
	 (D)	 All of the above

	 49.	 Which age group is defined as juvenile 
delinquency ?

	 (A)	 Above 18
	 (B)	 Below 18
	 (C)	 All of the above (A) and (B)
	 (D)	 None of these
	 50.	 On 24 January 2018 the ministry of women 

and child development launched a web 
based rapid reporting system for the

	 (A)	 Scheme for adolescent girls
	 (B)	 Scheme for widow pension
	 (C)	 Scheme for acid attack victims
	 (D)	 Scheme for divorced woman

	 51.	 Which vitamin in large amounts harms 
the bones ?

	 (A)	 Vitamin – A	 (B)	 Vitamin – B
	 (C)	 Vitamin – C	 (D)	 Vitamin – D

	 52.	 Route of administration of hepatitis B 
vaccine is

	 (A)	 Intradermal
	 (B)	 Subcutaneous
	 (C)	 Intramuscular
	 (D)	 Intravenous

	 47.	 N>ÎmrgJ‹T>>> amÁ` _| {H$VZo emgH$s` ~mb J¥h 
g§Mm{bV h¡ ?

	 (A)	 nm±M	 (B)	 N>h
	 (C)	 gmV	 (D)	 AmR>

	 48.	 ñdmYma J¥h `moOZm g§~§{YV h¡ 
	 (A)	 {dYdm _{hbmAm| go
	 (B)	 {Zam{j«V _{hbmAm| go
	 (C)	 {VañH¥$V _{hbmAm§o go
	 (D)	 CnamoŠV g^r

	 49.	 ~mb gåàojU J¥h _| ahZo dmbo ~ÀMm| H$s C_« Š`m 
hmoVr h¡ ?

	 (A)	 18 df© go Á`mXm
	 (B)	 18 df© go H$_
	 (C)	 CnamoŠV g^r (A) Am¡a (B)
	 (D)	 H$moB© ^r Zht

	 50.	 24 OZdar 2018 H$mo _{hbm Ed§ ~mb {dH$mg 
_§Ìmb` Ûmam do~ AmYm[aV a¡{nS> [anmo{Q>ªJ {gñQ>_ 
{H$gHo$ {b`o àmaå^ {H$`m J`m ?

	 (A)	 {H$emoar ~m{bH$m `moOZm
	 (B)	 {dYdm n|eZ `moOZm
	 (C)	 E{gS> h_bm `moOZm
	 (D)	 VbmH$ ewXm _{hbm `moOZm

	 51.	 H$m¡Z-go {dQ>m{_Z H$mo Á`mXm _mÌm _| boZo na h{È>`m| 
H$mo j{V nhþ±MVr h¡ ?

	 (A)	 {dQ>m{_Z – A	 (B)	 {dQ>m{_Z – B
	 (C)	 {dQ>m{_Z – C	 (D)	 {dQ>m{_Z – D

	 52.	 {hnoQ>mB{Q>g ~r d¡ŠgrZ H$m¡Z-go _mJ© go {X`m  
OmVm h¡ ?

	 (A)	 A§VËd©Mr` (ËdMm Ho$ A§Xa)
	 (B)	 AdËdMr` (ËdMm Ho$ ZrMo)
	 (C)	 A§Vn}er`
	 (D)	 Zgmo§ _| ({eamä`§Va) ({eam Ho$ AÝXa)
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	 53.	 All the vaccines are in National 
Immunization Schedule except

	 (A)	 BCG

	 (B)	 Pneumococcal
	 (C)	 Pentavalent
	 (D)	 OPV

	 54.	 Infant mortality does not includes

	 (A)	 Early neonatal mortality

	 (B)	 Perinatal mortality

	 (C)	 Post-natal mortality

	 (D)	 Late neonatal mortality

	 55.	 What is Maternal Mortality Rate 
(M.M.R.) ?

	 (A)	 Women’s death occurred before 
9th month of pregnancy

	 (B)	 The annual number of female 
deaths per 100,000 live births due 
to pregnancy

	 (C)	 The death of women occurred 
within 2 year of child birth

	 (D)	 None of the above

	 56.	 The aim of ‘Sanskar Abhiyan’  is 
	 (A)	 All round development from		

conception to 6 year of age
	 (B)	 Provide education to pre school 

children
	 (C)	 Upgradation of Anganwadi	  

centres
	 (D)	 All of the above

	 53.	 EH$ Ho$ A{V[aŠV {ZåZ g^r Q>rHo$ amîQ´>r` Q>rH$mH$aU 
H$m`©H«$_ _| AmVo h¢

	 (A)	 ~r.gr.Or.
	 (B)	 Ý`y_moH$moH$b
	 (C)	 noÝQ>mdoboÝQ>
	 (D)	 Amo.nr.dr.

	 54.	 {eew _¥Ë`wXa _| `h em{_b Zht hmoVm h¡

	 (A)	 àma§{^H$ ZdOmV _¥Ë`wXa

	 (B)	 àgdH$mbrZ _¥Ë`wXa

	 (C)	 àgdmoÎma _¥Ë`wXa

	 (D)	 {db§{~V {eew _¥Ë`wXa

	 55.	 _mV¥ _¥Ë`wXa (E_.E_.Ama.) Š`m h¡ ?

	 (A)	 J^©dVr _{hbm H$s _¥Ë`w Zm¡(9) _hrZo go 
nhbo

	 (B)	 J^m©dñWm Ho$ Xm¡amZ ̀ m {eew Ho$ OÝ_ Ho$ H$maU 
go à{V 100,000 Or{dV OÝ_m| _| _mV¥ _¥Ë`w 
H$s dm{f©H$ g§»`m

	 (C)	 _{hbm H$s _¥Ë`w {eew Ho$ OÝ_ Ho$ Xmo df© Ho$ 
AÝXa

	 (D)	 CnamoŠV _| go H$moB© ^r Zht

	 56.	 ‘g§ñH$ma A{^`mZ’ H$m CÔoí` h¡ 
	 (A)	 J^©YmaU go 6 df© VH$ Ho$ ~ÀMo H$m gdmªJrU 

{dH$mg
	 (B)	 ~ÀMmo§ H$mo embm nyd© {ejm àXmZ H$aZm

	 (C)	 Am§JZdm‹S>r Ho$ÝÐm| H$m CÝZ`Z

	 (D)	 CnamoŠV g^r
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	 57.	 Under this scheme, ATM vending 
machines for sanitary napkins and 
machine to incinerate used sanitary 
napkins are installed in government 
girls schools 

	 (A)	 Suchita Yojna
	 (B)	 Noni Suraksha Yojna
	 (C)	 Kishori Shakti Yojna

	 (D)	 Sabla Yojna

	 58.	 A function organized in Anganwadi 
center in order to measure the weight 
and Haemoglobin of girls is 

	 (A)	 Akarshak Thali
	 (B)	 Annaprashan
	 (C)	 Vajan Tyohar
	 (D)	 Beti Bachao Beti Padhao	

	 59.	 Under which scheme, girl child born 
in families below poverty line after  
1st April 2014 will get 1 lakh rupees after 
the age of 18 year ?

	 (A)	 Noni Suraksha Yojna
	 (B)	 Balika Samriddhi Yojna
	 (C)	 Mukhyamantri Kanya Vivah Yojna
	 (D)	 All of the above

	 60.	 Under this Scheme, there is a provision 
for providing legal advice, counseling, 
medical, transport and shelter facility 
to the women victims of domestic 
violence as per requirement

	 (A)	 Saksham Yojna
	 (B)	 Udan Yojna
	 (C)	 Jeevan Jyoti Bima Yojna
	 (D)	 Nava Bihan Yojna

	 57.	 Bg `moOZm Ho$ A§VJ©V emgH$s` H$Ý`m embmAm| 
_| goZoQ>ar Z¡n{H$Z H$s E.Q>r.E_. d|{S§>J _erZ Ed§ 
Cn`moJ H$s JB© goZoQ>ar Z¡n{H$Z H$mo ^ñ_ H$aZo Ho$ 
{bE ^ñ_H$ _erZo bJmB© JB© h¡ 

	 (A)	 gw{MVm `moOZm
	 (B)	 ZmoZr gwajm `moOZm
	 (C)	 {H$emoar epŠV `moOZm
	 (D)	 g~bm `moOZm

	 58.	 {H$emoar ~m{bH$mAm| Ho$ dOZ Ed§ hr_mo½bmo~rZ$ 
(é{Ya d{U©H$m) H$m ñVa nVm H$aZo hoVw Am§JZdm‹S>r 
Ho$ÝÐm| _| Am`mo{OV H$m`©H«$_ h¡

	 (A)	 AmH$f©H$ Wmbr
	 (B)	 AÝZàmeZ
	 (C)	 dOZ Ë`m¡hma
	 (D)	 ~oQ>r ~MmAmo ~oQ>r n‹T>mAmo	

	 59.	 >Bg ̀ moOZm Ho$ A§VJ©V Jar~r aoIm Ho$ ZrMo Ho$ n[adma 
_| 1 Aàob 2014 Ho$ ~mX OÝ_r b‹S{H$`m| H$mo 18 
df© hmoZo Ho$ ~mX EH$ bmI én`o XoZo H$s gw{dYm h¡>

	 (A)	 ZmoZr gwajm `moOZm
	 (B)	 ~m{bH$m g_¥{Õ `moOZm
	 (C)	 _w»`_§Ìr H$Ý`m {ddmh `moOZm	
	 (D)	 CnamoŠV g^r

	 60.	 Bg `moOZm Ho$ A§VJ©V Kaoby qhgm go nr{‹S>V 
_{hbmAm| H$mo Amdí`H$VmZwgma {d{YH$ gbmh, 
nam_e©, {M{H$Ëgm, n[adhZ Ed§ Aml` gw{dYm 
CnbãY H$amZo hoVw àmdYmZ h¡

	 (A)	 gj_ `moOZm
	 (B)	 C‹S>mZ `moOZm
	 (C)	 OrdZ Á`mo{V ~r_m `moOZm
	 (D)	 Zdm {~hmZ `moOZm	
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Part – 2
General Mental Aptitude and 

General Knowledge
gm_mÝ` _mZ{gH$ `mo½`Vm Ed§ gm_mÝ` kmZ

	 61.	 What is correct ?

	 i.	 Chairman of Rajya Sabha has the 
power of casting vote.

	 ii.	 He is bound to exercise this 
power.

	 (A)	 Only i is correct

	 (B)	 Only ii is correct

	 (C)	 i and ii both are correct

	 (D)	 i and ii both are wrong

	 62.	 Who amongst the following was given 
the 57th Jnanpith Award ?

	 (A)	 Nilmani Phookan

	 (B)	 Damodar Mauzo

	 (C)	 Amitav Ghosh

	 (D)	 Krishna Sobti

	 63.	 Which is the more appropriate measure 
of economic development among 
these ?

	 (A)	 Percentage increase in Gross 
Domestic product

	 (B)	 Percentage increase in National 
Income

	 (C)	 Percentage increase in Net 
National Income

	 (D)	 Percentage increase in per 
capita income

	 61.	 ghr Š`m h¡ ?
	 i.	 amÁ`g^m Ho$ g^mn{V H$mo {ZUm©`H$ _V 

XoZo H$m A{YH$ma h¡&

	 ii.	 dh Bg epŠV H$m à`moJ H$aZo Ho$ {bE 
~mÜ` h¡&

	 (A)	 Ho$db i ghr h¡

	 (B)	 Ho$db ii ghr h¡

	 (C)	 i Am¡a ii XmoZm| ghr h¢

	 (D)	 i Am¡a ii XmoZm| JbV h¢

	 62.	 57 dm± kmZnrR> nwañH$ma {ZåZ _| go {H$go àXmZ 
{H$`m J`m ?

	 (A)	 Zrb_{U \y$H$Z

	 (B)	 Xm_moXa _m¡COmo

	 (C)	 A{_Vmd Kmof

	 (D)	 H¥$îUm gmo~Vr

	 63.	 {ZåZ _| go H$m¡Z-gm A{YH$ Cn ẁŠV Am{W©H$ {dH$mg 
H$m _mnH$ h¡ ?

	 (A)	 gH$b Kaoby CËnmX _| à{VeV d¥{Õ

	 (B)	 amîQ´>r` Am` _| à{VeV d¥{Õ

	 (C)	 {dewÕ amîQ´>r` Am` _| à{VeV d¥{Õ

	 (D)	 à{V ì`pŠV Am` _| à{VeV d¥{Õ
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	 64.	 Find the missing number in the 
following number series.

5, 7, 11, 15, 23, ?

	 (A)	 27

	 (B)	 30

	 (C)	 32

	 (D)	 29

	 65.	 Find the missing number in the 
following number series.

7, 13, 31, 57, 133, ?

	 (A)	 135

	 (B)	 173

	 (C)	 183

	 (D)	 153

	 66.	 If 1, 2, 3, 4, 5, 6, 7, 8, 9 are codes for 
E, D, G, F, I, H, K, J, M respectively, 
then 17294 is the code for which of 
the following ?

	 (A)	 ejdmf

	 (B)	 ekdmf

	 (C)	 edkfm

	 (D)	 ekmdf

	 64.	 {ZåZ Am§{H$H$ loUr _| {dbwßV g§»`m kmV 
H$s{OE &
5, 7, 11, 15, 23, ?

	 (A)	 27

	 (B)	 30

	 (C)	 32

	 (D)	 29

	 65.	 {ZåZ Am§{H$H$ loUr _| {dbwßV g§»`m kmV 
H$s{OE &
7, 13, 31, 57, 133, ?

	 (A)	 135

	 (B)	 173

	 (C)	 183

	 (D)	 153

	 66.	 `{X 1, 2, 3, 4, 5, 6, 7, 8, 9 Hy$Q>  E, D, 
G, F, I, H, K, J, M Ho$ H«$_e: h¡, V~ {ZåZ 
_| go {H$gH$m Hy$Q> 17294 h¡ ?

	 (A)	 ejdmf

	 (B)	 ekdmf

	 (C)	 edkfm

	 (D)	 ekmdf
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	 67.	 If the prices of commodities increase 
@ of 5% per year, what type of inflation 
called it is ?

	 (A)	 Creeping inflation

	 (B)	 Walking inflation

	 (C)	 Running inflation

	 (D)	 Galloping inflation

	 68.	 Consider the following statements :
	 1.	 Liquid sodium is used as controller 

in nuclear reactor.

	 2.	 U-235 is used as nuclear fuel for 
power reactor.

	 3.	 Nuclear fusion cannot be 
controlled.

	 4.	 Heavy water is used as moderator 
in nuclear reactor.

	 5.	 Cadmium rods are used as coolant 
in nuclear reactor.

Wrong statements are :

	 (A)	 2 and 3

	 (B)	 1 and 4

	 (C)	 3 and 4

	 (D)	 1 and 5

	 67.	 `{X dñVwAm| H$s H$s_V| 5 à{VeV dm{f©H$ Xa go ~‹T>Vr 
h¡, Vmo Bgo {H$g àH$ma H$s _wÐmñ\$s{V H$hbmVr h¡ ?

	 (A)	 a|JVr _wÐmñ\$s{V

	 (B)	 MbVr _wÐmñ\$s{V

	 (C)	 Xm¡‹S>Vr _wÐmñ\$s{V

	 (D)	 ganQ> ^mJVr _wÐmñ\$s{V

	 68.	 {ZåZ H$WZm| na {dMma H$s{O`o :

	 1.	 Zm{^H$s` [a`oŠQ>a _| Ðd gmo{S>`_ H$m Cn`moJ 
{Z`§ÌH$ Ho$ ê$n _| hmoVm h¡&

	 2.	 U-235 nmda [a`oŠQ>a _| Zm{^H$s` BªYZ Ho$ 
ê$n _| Cn`moJ hmoVm h¡&

	 3.	 Zm{^H$s` g§b`Z H$mo {Z`§{ÌV Zht {H$`m Om 
gH$Vm&

	 4.	 Zm{^H$s` [a`oŠQ>a _| ^mar Ob H$m Cn`moJ 
_§XH$ Ho$ ê$n _| hmoVm h¡&

	 5.	 Zm{^H$s` [a`oŠQ>a _| H¡$S>{_`_ H$s N>‹S>m| H$m 
Cn`moJ àerVH$ Ho$ ê$n _| hmoVm h¡&

AgË` H$WZ h§¡ :

	 (A)	 2 Ed§ 3

	 (B)	 1 Ed§ 4

	 (C)	 3 Ed§ 4

	 (D)	 1 Ed§ 5
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	 69.	 Match List – I with List – II and select 
correct answer using following 
codes :

		  List – I	 List – II
		  (Unit)	 (Quantity)
	 a.	 Cusec	 1.	Pressure
	 b.	 Richter	 2.	High speed
	 c.	 Bar	 3.	Rate of flow
	 d.	 Mac	 4.	Noise level
	 e.	 Decibel	 5.	 Intensity of earthquake
		  a	 b	 c	 d	 e	
	 (A)	  3	 5	 1	 2	 4

	 (B)	  4	 1	 3	 2	 5

	 (C)	  5	 4	 3	 2	 1

	 (D)	  2	 1	 4	 3	 5

	 70.	 In the later Vedic period the Tax Collector 
was the designation of the officer 

	 (A)	 Sangrahtra
	 (B)	 Akshawap
	 (C)	 Sthapati
	 (D)	 Bhagdudh

	 71.	 Tropic of cancer passes through how 
many states of India ?

	 (A)	 Four states

	 (B)	 Eight states

	 (C)	 Five states

	 (D)	 Seven states

	 69.	 gyMr – I H$mo gyMr – II go gw_o{bV H$a {ZåZ 
H$moS> H$s ghm`Vm go ghr CÎma M`Z H$s{O`o :

		  gyMr – I	 gyMr– II
		  (BH$mB©)	 (_mÌm)
	 a.	 Š`ygoH$	 1.	Xm~
	 b.	 [aŠQ>a	 2.	CÀM doJ
	 c.	 ~ma	 3.	àdmh H$s Xa

	 d.	 _¡H$	 4.	 Üd{Z (emoa) H$m ñVa
	 e.	 S>o{g~ob	 5.	^yH§$n H$s Vrd«Vm
		  a	 b	 c	 d	 e	

	 (A)	  3	 5	 1	 2	 4

	 (B)	  4	 1	 3	 2	 5

	 (C)	  5	 4	 3	 2	 1

	 (D)	  2	 1	 4	 3	 5

	 70.	 CÎmad¡{XH$ H$mb _| H$a g§J«hH$Vm© A{YH$mar H$m 
nXZm_ Wm 

	 (A)	 g§J¥hÌm
	 (B)	 Ajdmn
	 (C)	 ñWn{V
	 (D)	 ^mJXþY

	 71.	 H$H©$ aoIm ^maV Ho$ {H$VZo àXoem| (amÁ`m|) go 
JwOaVr h¡ ?

	 (A)	 Mma àXoe (amÁ`)

	 (B)	 AmR> àXoe (amÁ`)

	 (C)	 nm§M àXoe (amÁ`)

	 (D)	 gmV àXoe (amÁ`)
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	 72.	 On which bill prior signature of President 
is essential to introduce in the house ? 

	 i.	 Money Bill

	 ii.	 Finance Bill
	 iii.	 Private Bill

	 iv.	 Government Bill

	 (A)	 i
	 (B)	 i	 ii
	 (C)	 i	 ii	 iii
	 (D)	 i	 ii	 iii	 iv

	 73.	 If ‘ x’ stands for ‘x2’, ‘x’ stands for 
‘x3’ and ‘∇x’ stands for ‘

x
3

’, then  
8 + 2 – ∇24 = ?

	 (A)	 67	 (B)	 76	
	 (C)	 72	 (D)	 64	

	 74.	 Which number replaces the question 
mark ?

310

8

18

6

1740

28

68

4

15120

15

?

9

	 (A)	 150	 (B)	 135
	 (C)	 39	 (D)	 129

	 75.	 From which sport is the player of this 
state Rustam Sarang who has made 
his position in the international sports 
competition ?

	 (A)	 Basket Ball	 (B)	 Running
	 (C)	 Weight lifting	 (D)	 Archery

	 72.	 gXZ _| nwañWm{nV H$aZo Ho$ nyd© {H$g {dYo`H$ na 
amîQ´>n{V H$m nyd© hñVmja Amdí`H$ h¡ ? 

	 i.	 YZ {dYo`H$

	 ii.	 {dÎm {dYo`H$

	 iii.	 {ZOr {dYo`H$

	 iv.	 emgH$s` {dYo`H$

	 (A)	 i
	 (B)	 i	 ii
	 (C)	 i	 ii	 iii
	 (D)	 i	 ii	 iii	 iv

	 73.	 `{X ‘ x’ H$m Cn`moJ ‘x2’ Ho$ {bE, ‘∆x’ H$m Cn`moJ  
‘x3’ Ho$ {bE VWm ‘∇x’  H$m Cn`moJ ‘

x
3

’ Ho$ {bE 
hmoVm h¡, V~ 8 + 2 – ∇24 = ?

	 (A)	 67	 (B)	 76	
	 (C)	 72	 (D)	 64	

	 74.	 H$m¡Z-gr g§»`m àíZ {M• H$mo {dñWm{nV 
H$aoJr ?

310

8

18

6

1740

28

68

4

15120

15

?

9

	 (A)	 150	 (B)	 135
	 (C)	 39	 (D)	 129

	 75.	 AÝVam©îQ´>r` Iob à{V`mo{JVmAm| _| AnZm ñWmZ 
~ZmZo dmbo Bg amÁ` Ho$ {Ibm‹S>r éñV_ gma§J {H$g 
Iob Ho$ h¡§ ?

	 (A)	 ~mñHo$Q> ~m°b	 (B)	 Xm¡‹S>
	 (C)	 ^mamoÎmbmoZ	 (D)	 {Va§XmOr
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	 76.	 aMZm H$s ÑpîQ> go {H«$¶m Ho$ {H$VZo ^oX h¢ ?

	 (A)	 2	 (B)	 3

	 (C)	 4	 (D)	 5

	 77.	 AënàmU Üd{Z H$m¡Z-gr h¡ ?

	 (A)	 V X Z

	 (B)	 V W X

	 (C)	 X Y Z

	 (D)	 W X Z

	 78.	 ¶w½‘ eãX H$m AW© ³¶m h¡ ?

	 (A)	 AZoH$mWu eãX

	 (B)	 g‘mZ CÀM[aV eãX

	 (C)	 {^ÝZmW©H$ eãX

	 (D)	 n¶m©¶dmMr eãX

	 79.	 BZ‘| go VX²^d eãX h¡

	 (A)	 ‘H©$Q>r	 (B)	 ’$m±gr

	 (C)	 nwÌdYy	 (D)	 {ÌJwU

	 80.	 ‘CnH$ma’ H$m {dbmo‘ eãX ³¶m h¡ ?

	 (A)	 AnH$ma	 (B)	 AZwnH$ma

	 (C)	 AZnH$ma	 (D)	 AmH$ma

General hindi Chhattisgarhi Language

Part – 3
General Knowledge of General Hindi and Chhattisgarhi Language 

gm_mÝ` {hÝXr Ed§ N>ÎmrgJ‹T>r ^mfm H$m gm_mÝ` kmZ

	 81.	 N>ÎmrgJ‹T> amO^mfm-Am¶moJ Ûmam MbmB© JB© ‘‘mB© 
H$moR>r ¶moOZm’ H$m H$m¶© h¡

	 (A)	 gm{hË¶ H$m g§ajU
	 (B)	 eãXmdbr H$m g§ajU
	 (C)	 bmoH$ gm{hË¶ H$m g§ajU
	 (D)	 dmX²¶-¶§Ì H$m g§ajU

	 82.	 N>ÎmrgJ‹T>r ‘H${R>¶mZm’ eãX ‘| H$m¡Z-gm VX²{YV 
àË¶¶ h¡ ?

	 (A)	 - ¶mZm	 (B)	 - Zm
	 (C)	 - AmZm	 (D)	 - B¶mZm

	 83.	 N>ÎmrgJ‹T>r CnÝ¶mg ‘H$H$m Ho$ Ka’ Ho$ boIH$ h¢
	 (A)	 am‘ZmW gmhÿ	 (B)	 amhþb Hw$‘ma qgh
	 (C)	 aodm am‘ ~m~y	 (D)	 am‘oída d¡îUd

	 84.	 N>ÎmrgJ‹T>r H$mì¶ g§J«h ‘gwaVm Ho$ M§XZ’ Ho$ 
aMZmH$ma h¢

	 (A)	 S>m°. Za|Ð Xod d‘m©
	 (B)	 h[a R>mHw$a
	 (C)	 Zmam¶U bmb na‘ma
	 (D)	 n§. í¶m‘ bmb MVwd}Xr

	 85.	 ‘mZdoÎma OrdYm[a¶m| ‘| qbJ {ZYm©aU Ho$ {bE 
{H$g ñdV§Ì eãX H$m à¶moJ {H$¶m OmVm h¡ ?

	 (A)	 AmoB©	 (B)	 E¶m
	 (C)	 ‘mB©	 (D)	 JmoB©
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	 86.	 Patna is ________ from Sitamarhi 
than Hajipur.

		  choose the correct word.

	 (A)	 farther

	 (B)	 further

	 (C)	 near

	 (D)	 none of the above

	 87.	 ____________ punishment in 
schools must be discouraged.  
Choose the correct word.

	 (A)	 Corporeal

	 (B)	 Corporal

	 (C)	 Corporel

	 (D)	 None of the above

	 88.	 Choose the synonym of the word 
‘tactical’.

	 (A)	 Impolite

	 (B)	 Unwise

	 (C)	 Prudent

	 (D)	 Untimely

	 89.	 He was the most eloquent speaker 
_______ I ever heard. 

		  choose the correct relative pronoun.

	 (A)	 who

	 (B)	 which

	 (C)	 that

	 (D)	 none of the above

	 90.	 The point where the earth and sky 
seems to meet

	 (A)	 Horizon

	 (B)	 Outlook

	 (C)	 Focus

	 (D)	 None of the above
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	 91.	 If by selling 110 mangoes, the cost 
prize of 120 mangoes is realised, the 
gain percent is 

	 (A)	 9
1
9

% 	 (B)	 9
1

11
%

	 (C)	 11
1
9

% 	 (D)	 None of these

	 92.	 If the radius of a circle is decreased by 
50%, find the percentage decrease in 
its area.

	 (A)	 25%	 (B)	 75%
	 (C)	 50%	 (D)	 None of these

	 93.	 Following is given a question followed 
by three answers I, II and III. Choose 
the appropriate answers and the 
options from the following :

		  Question : What would be the 
		  difference between the simple interest 

and the compound interest on a sum 
		  of money at the end of four years ?
	 I.	 The rate of interest is 5% p.a.
	 II.	 The sum fetches a total of  

Rs. 2,000 as simple interest at 
the end of 8 years.

	 III.	 The difference between the 
simple interest and the compound 
interest at the end of 2 years is  
Rs. 12.50.

	 (A)	 II only
	 (B)	 III only
	 (C)	 II or III only
	 (D)	 All I, II and III are required

	 91.	 `{X 110 Am_m| H$mo ~oMZo na 120 Am_m| H$m H«$` 
_yë` àmßV hmoVm h¡, Vmo bm^ à{VeV hmoJm

	 (A)	 9
1
9

% 	 (B)	 9
1

11
%

	 (C)	 11
1
9

% 	 (D)	 BZ_| go H$moB© Zhr§

	 92.	 `{X {H$gr d¥Îm H$s {ÌÁ`m 50% H$_ H$a Xr Om òJr, 
Vmo joÌ\$b _| à{VeV H$_r kmV H$amo§ &

	 (A)	 25%	 (B)	 75%
	 (C)	 50%	 (D)	 BZ_| go H$moB© Zhr§

	 93.	 ZrMo EH$ àíZ {X`m J`m h¡ Am¡a CgHo$ ZrMo 3 CËVa 
I, II Am¡a III h¡ & {ZåZ{b{IV {dH$ënm| _| go dh 
{dH$ën N>m±Q>o Omo àíZ Ho$ CÎma h¡ :

		  àíZ : {H$gr _ybYZ na Mma df© Ho$ AÝV _| gmYmaU 
ã`mO Am¡a MH«$d¥{Õ ã`mO _| Š`m A§Va hmoJm ?

	 I.	 ã`mO H$s Xa 5% dm{f©H$ hmoJr &
	 II.	 dh YZ 8 dfm] _| gmYmaU ã`mO ` 2,000 

hmo Om`oJm &

	 III.	 Xmo df© Ho$ A§V _| gmYmaU ã`mO Am¡a 
MH«$d¥{Õ ã`mO _| A§Va ` 12.50 hmoJm &

	 (A)	 Ho$db II
	 (B)	 Ho$db III
	 (C)	 Ho$db II `m III
	 (D)	 g^r I, II Am¡a III H$s Oê$aV h¡
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	 94.	 A trader mixes 26 kg of rice at Rs. 20 
per kg with 30 kg of rice of other variety 
at Rs. 36 per kg and sells the mixture 
at Rs. 30 per kg. His profit percent is

	 (A)	 5%

	 (B)	 8%

	 (C)	 No profit, no loss

	 (D)	 None of these

	 95.	 What is the unit digit in 
		  (264)102 + (264)103 ?

	 (A)	 0	 (B)	 1

	 (C)	 2	 (D)	 None of these

	 96.	 If the number 91876*2  is completely 
divisible by 8, then the smallest whole 
number in place of * will be 

	 (A)	 1	 (B)	 2

	 (C)	 3	 (D)	 None of these

	 97.	 Seats for mathematics, physics and 
biology in a school are in the ratio  
5 : 7 : 8. There is a proposal to increase 
these seats by 40%, 50% and 75% 
respectively, what will be the new ratio ?

	 (A)	 2 : 3 : 4

	 (B)	 6 : 7 : 8

	 (C)	 6 : 8  : 9

	 (D)	 None of these

	 94.	 EH$ ì`mnmar ` 20 à{V {H$bmo dmbo 26 {H$bmo 
Mmdb H$mo Xÿgao {H$ñ_ Ho$ ` 36 à{V {H$bmo dmbo  
30 {H$bmo$ Mmdb Ho$ gmW {_bmVm h¡ Am¡a Cg {_lU 
H$mo ̀  30  à{V {H$bmo Ho$ {hgm~ go ~oMVm h¡ & CgH$m 
bm^ à{VeV _| hmoJm

	 (A)	 5%

	 (B)	 8%

	 (C)	 Z bm^, Z hmZr	

	 (D)	 BZ_| go H$moB© Zhr§

	 95.	 {ZåZ{b{IV `moJ H$m BH$mB© A§H$ Š`m hmoJm ?
		  (264)102 + (264)103 
	 (A)	 0	 (B)	 1

	 (C)	 2	 (D)	 BZ_| go H$moB© Zhr§

	 96.	 `{X A§H$ 91876*2, 8 go nyU©V`m {d^m{OV hmo, 
Vmo * H$s OJh bKwÎm_ nyU© g§»`m hmoJr

	 (A)	 1	 (B)	 2

	 (C)	 3	 (D)	 BZ_| go H$moB© Zhr§

	 97.	 {H$gr ñHy$b _| J{UV, ̂ m¡{VH$ emñÌ Ed§ Ord {dkmZ 
_| grQ>m| H$s g§»`m 5 : 7 : 8 Ho$ AZwnmV _| h¡ & Bgo 
H«$_e: 40%, 50% Am¡a 75% ~‹T>mZ| H$m àñVmd 
h¡ & Z`m AZwnmV hmoJm 

	 (A)	 2 : 3 : 4

	 (B)	 6 : 7 : 8

	 (C)	 6 : 8  : 9

	 (D)	 BZ_| go H$moB© Zhr§
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	 98.	 15 litres of mixture contains 20% 
alcohol and the rest water. If 3 litres  
of water be mixed with it, the percentage 
of alcohol in the new mixture would be 

	 (A)	 18
1
2

%

	 (B)	 17%

	 (C)	 16
2
3

%

	 (D)	 None of these

	 99.	 The sum of a number and its reciprocal 
is one-eighth of 34. What is the product 
of the number and its square root ?

	 (A)	 32

	 (B)	 27

	 (C)	 8

	 (D)	 None of these

	100.	 The average weight of three boys A, 
B and C is 54 1

3
kg, while the average 

weight of three boys B, D and E is  
53 kg. What is the average weight of 
A, B, C, D and E ? 

	 (A)	 53.8 kg

	 (B)	 52.4 kg

	 (C)	 Data inadequate

	 (D)	 None of these

	 98.	 15 brQ>a Ho$ {_lU _| 20% AëH$mohb Am¡a ~Mm hþAm 
nmZr h¡ & `{X {_lU _| 3 brQ>a nmZr {_bm {X`m Om`, 
Vmo Z ò {_lU _| AëH$mohb H$m à{VeV hmoJm

	 (A)	 18
1
2

%

	 (B)	 17%

	 (C)	 16
2
3

% 	

	  (D)	 BZ_| go H$moB© Zht

	 99.	 {H$gr g§»`m Am¡a CgHo$ ì`wËH«$_ H$m `moJ, 34 H$m 
1
8 dm± ^mJ h¡ & Cg g§»`m H$m Am¡a CgHo$ dJ©_yb 
H$m JwUZ hmoJm 

	 (A)	 32

	 (B)	 27

	 (C)	 8

	 (D)	 BZ_| go H$moB© Zht

	100.	 VrZ bS>H$m| A, B Am¡a C H$m Am¡gV dOZ  

54 1
3 {H$bmo h¡, O~{H$ VrZ bS>H$mo§ B, D Am¡a  E 

H$m Am¡gV dOZ 53 {H$bmo h¢, Vmo A, B, C, D 

Am¡a E H$m Am¡gV dOZ {H$VZm hmoJm ?

	 (A)	 53.8  {H$bmo

	 (B)	 52.4  {H$bmo

	 (C)	 Am§H$S>o An`m©ßV h¡

	 (D)	 BZ_| go H$moB© Zhr§
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    SET –  A 

CÎma A§{H$V H$aZo H$m g_` :          3 K§Q>o	 A{YH$V_ A§H$ : 200
Time for making answers : 3 Hours	 Maximum Marks : 200
ZmoQ> :
1.	 Bg àíZ nwpñVH$m _| 100 àíZ h¡ - àË òH$ àíZ 2 A§H$ H$m h¡ & g^r àíZ hb H$aZm A{Zdm ©̀ h¡ &
2.	 Bg àíZ nÌ _| nm±M ^mJ hm|Jo :-

						      à. g§.	  A§H$
	 ^mJ – 1 :	 _{hbm Ed§ ~mb {dH$mg {d^mJ go gå~§{YV `moOZmE± Ed§ H$m`©H«$_	 1 – 60	 120
	 ^mJ – 2 :	 gm_mÝ` _mZ{gH$ `mo½`Vm Ed§ gm_mÝ` kmZ	 61 – 75 	 30
	 ^mJ – 3 :	 gm_mÝ` {hÝXr Ed§ N>ÎmrgJ‹T>r ^mfm H$m gm_mÝ` kmZ	 76 – 85 	 20
	 ^mJ – 4 :	 gm_mÝ` A§J«oOr	 86 – 90	 10
	 ^mJ – 5 :	 gm_mÝ` J{UV	 91 – 100	 20

	 àË`oH$ àíZ 2 A§H$ H$m h¡ & Hw$b 100 àíZ H$aZo A{Zdm`© h¡ &
3.	 àíZm| Ho$ CÎma Xr JB© OMR CÎma-erQ> (Am§ga-erQ>) na A§{H$V H$s{OE &
4.	 JbV CÎma A§{H$V H$aZo na 1/4 A§H$ H$mQ>o Om`|Jo &
5.	 {H$gr ^r Vah Ho$ H¡$bHw$boQ>a `m bm°J Q>o~b Ed§ _mo~mBb \$moZ H$m à`moJ d{O©V h¡ &
6.	 OMR CÎma-erQ> (Am§ga-erQ>) H$m à`moJ H$aVo g_` Eogr H$moB© AgmdYmZr Z H$a|/~aV| {Oggo `h \$Q> Om`o `m 

Cg_| _mo‹S> `m {gbdQ> Am{X n‹S> Om`o {OgHo$ \$bñdê$n dh Iam~ hmo Om`o Ÿ&
Note :
1.	 This question booklet contains 100 questions. Each question carries 2 marks. 

Answer all questions.
2.	 This Question Paper consists of Five Parts namely :

					           Q. No.	   Marks
	 Part – 1 :	Schemes Related to Women and Child Development  

Department and Programme	 1 – 60	 120
	 Part – 2 :	General Mental Aptitude and General Knowledge	 61 – 75	 30
	 Part – 3 :	General Knowledge of General Hindi and Chhattisgarhi Language	 76 – 85	 20
	 Part – 4 :	General English	 86 – 90	 10
	 Part – 5 :	General Maths	 91 – 100	 20

	 Each question carries 2 marks. All 100 questions are compulsory.
3.	 Indicate your answers on the OMR Answer-Sheet provided.
4.	 1/4 mark will be deducted for each wrong answer.
5.	 Use of any type of calculator or log table and mobile phone is prohibited.
6.	 While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does 

not get torn or spoiled due to folds and wrinkles.


